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(1) (x +2)(y +3)
O~ A

=xy +3x +2y +6
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(1) (x+2)(y+5)
=xy+5x+2y+10

A, xy+5x+2y+10

(2) (x—3)(y+7)
=xy+7x—3y—21

K xy+7x—3y—21

(3) (a—4)(b—2)
=ab—2a—4b+8

X, ab—2a—4b+8

(4) (—a+b)(x+vy)
=—ax—ay+tbx+tby

X, —ax—ay+bx+tby

(5) (x—y)(a—2Db)
—ax—2bx—ay+2by

X, ax—2bx—ay+2by

(6) (2 x+1)(x+3)
=2 x*+6x+x+3
=2x*+7x+3

A, 2x*+7x+3

(7) (x—4)(3 x+1)
=3x*+x—12x—4
=3x’—11x—4

XK. 3x*—11x—4

(8) (3x+2)(2x—3)
=6x’—9x+4x—6
=6x*—5x—6

K, 6x*—5x—6

(9) (3 x—5)(4x—1)
=712x"—3x—20x+5
=12x*—23x+5

A 12x*—23x+5

(10) (ba—7)(5a+7)
=25a*+35a—35a—49
=25a?2—49

XK. 25a%?—49

(11) (x+3y)(x+2vy)
=x’+2xy+3xy+6y?
=x’+5xy+6y?

K, x’+5xy+6y?

(12) (x—6vy)(x+7v)
=x’txy—6xy—6y*
=x?’—5xy—6y?

K, x’—5xy—6y?

(13) (3 x+2y)(2x—3y)
=6x’—9xy+4xy—6y?
=6x*—5xy—6y?

A, 6x*—5xy—6y?

(14) (2x—7y)(2x—4vy)
=4 x*—8xy—14xy+28y?
=4 x’—22xy+28y?

K, 4x?—22xy+28y?

(15) (6a+2b)(2b—6a)
=72ab—36a’+4b*—712ab
——36a’+4b?

X, —36a’+45b’




